CHAPTER 3

QUESTIONS

Three elements, as defined by the FASB,
are contained in a balance sheet: assets,
liabilities, and equity. These elements
measure the worth of an enterprise at a
given point in time. The balance sheet thus
reports what resources an enterprise has
and who has claim against those re-
sources. Two other elements, investments
by owners and distribution to owners, are
related to the equity element. Information
concerning the change in equity is often
contained in a separate statement that
supplements the balance sheet.

In order to meet the definition of an asset,
an item need not be associated with certain
future benefit. To acknowledge the uncer-
tainty inherent in business, the definition of
an asset stipulates that the future benefit
need be only probable.

Some liabilities, such as accounts payable
and long-term debt, are denominated in
precise monetary terms. However, the
amounts of many liabilities must be esti-
mated based on expectations about future
events.

The difference between current assets and
current liabilities, referred to as working
capital, is a commonly used measure of the
liquidity of an enterprise. It helps to deter-
mine whether the company will be able to
meet its current debts and obligations with
available assets and still continue normal
operations.

a. Assets are classified as current if

(1) the asset will be realized in cash
during the normal operating cycle
of the business or 1 year, which-
ever is longer, or

(2) the asset will be sold or consumed
within a normal operating cycle or 1
year, whichever is longer.

b. Liabilities are classified as current if lig-
uidation of the liability is expected to
require
(1) the use of current assets or
(2) the creation of other current liabili-

ties.
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a. Cash is classified as noncurrent when
it is a part of a fund that will be used to
discharge noncurrent obligations. Such
funds include bond retirement funds,
pension funds, and preferred stock re-
demption funds. Cash to be used for
the acquisition of land, buildings, and
equipment or cash received on long-
term deposits from customers would
also be reported as noncurrent.

b. Receivables not reportable as current
assets include those arising from un-
usual transactions, such as the sale of
land, buildings, and equipment or ad-
vances to affiliates or employees that
would not be collectible within 12
months.

If a short-term loan is expected to be refi-
nanced or paid back with the proceeds of a
replacement loan, the existing short-term
loan is not classified as current. This is true
as long as the intent of the company is to
refinance the loan on a long-term basis and
the company’s intent is evidenced by an
actual refinancing after the balance sheet
date or by the existence of an explicit refi-
nancing agreement.

a. A subjective acceleration clause is a
provision in a debt instrument that spe-
cifies some general conditions permit-
ting a lender to unilaterally accelerate
the due date.

b. An objective acceleration clause is a
provision in a debt instrument that spe-
cifies conditions that can cause the
debt to be immediately callable, for ex-
ample, failure to earn a certain return
on the assets or to make an interest
payment.

c. If a noncurrent debt instrument con-
tains a subjective acceleration clause
and the invoking of the clause is
deemed probable, the liability should
be classified as current. If invoking of
the clause is deemed reasonably pos-
sible but not probable, the obligation
should continue to be reported as a
noncurrent liability with a note to de-
scribe the contingency. If a debt in-
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strument contains an objective accel-
eration clause and the conditions that
trigger the call have occurred, the debt
should be classified as current. Excep-
tions are that (1) the creditor has
waived the right to demand payment for
a period that extends beyond the deb-
tor's normal operating cycle or (2) the
debtor has cured the deficiency after
the balance sheet date but before the
statements are issued, and the debt is
not callable for a period that extends
beyond the debtor's normal operating
cycle.

Contingent liabilities could or could not give
rise to actual obligations; estimated liabili-
ties are known to exist but the amount is
not definitely known. A company could, for
example, win or lose a lawsuit, but it is ac-
tually liable for income tax. The exact
amount of the income tax is unknown until
the final tax return is completed. The tax li-
ability could have to be estimated at the
time financial statements are prepared.

With a proprietorship, owner’s equity is re-
ported with a single capital account. In a
partnership, separate capital accounts are
established for each partner. In a corpora-
tion, a distinction is made between contrib-
uted capital and retained earnings.

The three major categories in a corpora-
tion's Equity section are

(a) Contributed capital, including both capi-
tal stock at par and additional paid-in
capital

(b) Retained earnings

(c) Other equity, such as treasury stock,
unrealized gains and losses on available-
for-sale securities, foreign currency trans-
lation adjustments, and unrealized gains
and losses on derivatives

Offset balances are used to adjust the
gross amount of balance sheet items to ar-
rive at proper valuations. For example, al-
lowance for bad debts is properly offset
against the gross amount of accounts re-
ceivable to show the net amount estimated
collectible. It is generally not proper to off-
set an asset account against a liability or
owners’ equity account because such an
offset would not be for the purpose of cor-
rectly valuing either account but rather to
condense financial data at the expense of
adequate disclosure.
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Assets are usually presented in the order of
their liquidity, with the most liquid items
listed first.

Financial ratios are mathematical relation-
ships  between  financial  statement
amounts. For example, return on equity is
net income divided by owners' equity.

Asset turnover ratio (total sales divided by
total assets) is a measure of the number of
dollars of sales generated by each dollar of
assets. The higher the asset turnover ratio,
the more efficient the company is in using
its assets to generate sales.

Return on equity is an indicator of the over-
all performance of a company. Return on
equity measures the percentage return on
the stockholders' investment and is com-
puted as net income divided by total equity.

There are at least four types of notes used
by management to support the financial
statements and provide users with addi-
tional relevant information. They can be
classified as follows:

(&) Summary of significant accounting poli-
cies

(b) Additional information, both numerical
and descriptive, to support summary to-
tals included in the financial statements

(c) Information about items that does not
meet the recognition criteria but that is
still useful to decision makers

(d) Supplementary schedules required by
the FASB or the SEC to fulfill the full
disclosure principle

The FASB must maintain a balance be-
tween conceptual purity and business prac-
ticality. When a conceptually correct recog-
nition standard is criticized as impractical,
one FASB approach is to require only the
disclosure of the information rather than its
formal recognition. This sometimes molli-
fies businesses’ complaints about impracti-
cality. For example, in 1994 the FASB de-
cided to temporarily require only note dis-
closure of stock option values in response
to businesses’ complaints about the pro-
posed recognition of those values as com-
pensation expense.

Separate supplementary information or
schedules may be included to disclose
segment information; details about prop-
erty, plant, and equipment and short-term
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borrowing; and trend data for periods be-
yond those included in the basic state-
ments.

If a subsequent event provides additional
information about items included in the fi-
nancial statements, especially those whose
value has been estimated, the new infor-
mation should be used to make adjust-
ments to the amounts in the statements.
The event itself does not actually change
the value but merely provides additional in-
formation about conditions that existed at
the balance sheet date. For example, the
filing of a bankruptcy petition by a major
customer provides additional data concern-
ing the collectibility of accounts receivable.

21.
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The conditions that led to the bankruptcy
were probably present at the balance sheet
date but may not have been known to the
preparer of the statements until the bank-
ruptcy filing took place. Under these cir-
cumstances, Allowance for Bad Debts may
need adjustment to properly reflect the net
realizable value of receivables.

Many assets are reported at historical cost,
which is usually less than market value,
and other assets (such as homegrown
goodwill) are not included in the balance
sheet at all. Accordingly, the balance sheet
numbers are often a very poor reflection of
what a company is worth. Typically, a going
concern is worth significantly more than the
reported book value of equity.
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PRACTICE EXERCISES

PRACTICE 3-1 WORKING CAPITAL

Current assets:

CaSN . e $ 700

INVENTOTY .. 2,500

TOtAl s $3,200
Current liabilities:

Accounts payable .........ccccuveiiiiii i, $2,400

Accrued wages payable ..., 225

TOtAl e $2,625

Working capital = Current assets — Current liabilities = $3,200 — $2,625 = $575

PRACTICE 3-2 CURRENT ASSETS

Current assets:

CaASN s $ 400
Investment securities (trading)........cccceevvieiiiiiiiiieneeee, 250
Accounts receivable ........cccccci 700
INVENTOIY . 4,000
Prepaid eXPENSES......oiviiiiiiiiiiiiiieiiieeeeeeeeeeeeeeeeeeeeeseeeaeeenaen 1,100
Total CUITEeNt @SSELS ..uuuuiiiciccece e $6.450

PRACTICE 3-3 CURRENT LIABILITIES

Current liabilities:

Accounts payable .......cccccooiiiiiii i $ 700
UnearnNed reVENUE .......cooi it 315
Accrued income taxes payable........cccccooiiiiiiiiiiiiiiinnnn. 9,000
Current portion of long-term debt ...........ccccoeeeiiiiinnnnnns 10,000
Total current liabilitieS ..., $20,015

PRACTICE 3-4 CLASSIFICATION OF SHORT-TERM LOANS TO BE REFINANCED

Current:

Loan A
Because the loan will be repaid, with cash, within one year of the balance sheet
date, it should be classified as current.

Loan B
In order to classify the loan as noncurrent, the company must have both the in-
tent to refinance and evidence of the intent in the form of actual refinancing or a
contract to refinance before the issuance of the financial statements.
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PRACTICE 3-4 (Concluded)

Noncurrent:

Loan C
The company intends to refinance Loan C, and the refinancing will be formalized
before the financial statements for this year have been released. Of course, the
actual formalization of the refinancing must be confirmed; this will occur before
the issuance of the financial statements.

PRACTICE 3-5 CALLABLE OBLIGATIONS

Current:

Loan A
A loan is current if it is payable on demand or will become payable on demand
within one year.

Noncurrent:

Loan B
The company is exceeding the current ratio constraint in the loan agreement;
thus, the loan is not payable on demand.

Loan C
It is “reasonably possible” that the company will violate the subjective accelera-
tion clause. The loan continues to be classified as noncurrent, and the possibil-
ity of the loan becoming payable on demand will be disclosed in a note.

PRACTICE 3-6 CONTINGENT LIABILITIES
a. This is an estimated liability. The company has a definite obligation that must be
estimated and reported in the balance sheet.

b. It is possible that the company will have to make a payment under this contin-
gent liability. The possibility is described in a financial statement note; nothing
is recognized in the balance sheet.

c. Itis probable that the company will have to make a payment under this contin-
gent liability. Accordingly, the liability is recognized in the balance sheet if it can
be reasonably estimated.

PRACTICE 3-7 STOCKHOLDERS’ EQUITY

a. Total contributed capital:

Preferred stock, at par.......ccccceeevciieee i, $ 3,450
Additional paid-in capital, preferred...........ccccuuee. 150
Common stock, at par.....ccccceeeviiiiiiiieeeee 170
Additional paid-in capital, common............ccccc.ueee. 8,200

Total contributed capital........ccceevvvvvviivviiviiiiiiiiiinnns $11,970
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PRACTICE 3-7 (Concluded)

b. Ending retained earnings:

Retained earnings (beginning).......ccooceeveveeneeeeeeenn.
PIUS: SAIES....uuiiii
Less: Total eXPENSES ..ccovvvviviiiiiiieeeeeeeeeeeee e
DIVIAENAS ...
Ending retained earnings ..........ccccoeeeeieeeeeninnienee

c. Total stockholders’ equity:

Total contributed capital.........ccccceeeeiiiiiiiiiiiiee.
Plus: Ending retained earnings........ccccccceeeeevunneee.
Less: Treasury StOCK.......coovvviiiiiiieiiiciciie e,
Total stockholders’ equity ........cceevvvvvvveviiiiiiiiiinnnnnns

PRACTICE 3-8 STOCKHOLDERS’ EQUITY

a. Total contributed capital:

Common Stock, at par.....ccccccvvvvveviveiiiiiiiiiiiiiiiiiiiieens
Additional paid-in capital, common............cccc.ueee.
Total contributed capital.........cccvvvvvviiiiiiiiiiiiiiiinnns

b. Total accumulated other comprehensive income:

Cumulative translation adjustment (equity
reduction), enNding.......ccccuveeeiieeeiniiiiiiiieeeee e

Cumulative unrealized gain on available-for-sale
securities, ending .......ccooociviiieiiiee e

Total accumulated other comprehensive income
(equity reduction)......ccceeeeiiiii,

c. Total stockholders’ equity:

Total contributed capital......cccccccevvvvvviiiiiiiiiiiiiiiieeee,
Plus: Retained earnings (post closing, or ending)
Total accumulated other comprehensive income
(equity reduction).....ccccceeeeeiiii
Less: Treasury StOCK......ccceeviiiiiiiiiiiiieeee e
Total stockholders’ equity ........cccceeeeiiiiiiiiiiiiieeneenn.

Chapter 3

$6,500
9,700
(5,650)
(950)
$9.600

$11,970

9,600
__(379)
$21,195

$(2,000)
1,100

$ (900

$9,400
1,500

(900)

(700)
$9,300
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PRACTICE 3-9 FORMAT OF FOREIGN BALANCE SHEET

Noncurrent assets (or fixed assets):

Property, plant, and equipment .............cccceee... $ 8,000
Long-term investments .........cccccevvvvveeiiieiieeneenn, 1,700
Total noncurrent assets (or fixed assets)... $ 9,700
Current assets:
CaSh ..o $ 500
INVENTOTY .o 2,000
Total current assets .....cccoccvvveeevicivieeeesiieeenn. $2,500
Current liabilities:
Accounts payable .......ccccceeviiiiie e $ 300
Short-term loans payable..........ccccvvvviviviiviiinnnnns 1,100
Total current liabilities ..........cccccceevveeeiinene, $1.400
Net CUITeNTt @SSELS ...coviiiiiieiiiiiiie et 1,100
Total assets less current liabilities ..............uvvvivvnnnnn. $10,800
Noncurrent liabilities:
Long-term debt.......ccccociviiiiiiiie e $ 3,000
Stockholders’ equity:
Common stock, at par ....ccccceevcveeeeeesieee e $ 50
Additional paid-in capital ..........ccccoviiiieiieeerinnns 2,000
Retained earnings ........cccccvviiiiiiieee 5,750
Total stockholders’ equity .......ccoooevveiiiiinnnnnn. 7,800
10,800

PRACTICE 3-10 CURRENT RATIO

Current assets:

CaSh . $ 750
INVENTOTY .. e 6,300
Total Current asSets ......coccveveeeiiiieee e $7.050

Current liabilities:
Accounts Payable .......cccccoivviiiiie e $3,700
Accrued wages payable ......ccooo 615
Total current liabilities ..., $4,315

Current ratio = Current assets/Current liabilities = $7,050/$4,315= 1.63
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PRACTICE 3-11 QUICK RATIO

“Quick” assets:

CAS N e s $ 400
Accounts receivable ... 1,750
Total QUICK @SSELS ..uuuiiiiiiiiicceee e $2,150
Current liabilities:
Accrued wages payable ..., $ 315

Quick ratio = Quick assets/Current liabilities = $2,150/$315 = 6.83

PRACTICE 3-12 DEBT RATIO

Liabilities:
Accounts payable ... $ 700
Accrued income taxes payable.......ccccccceeeiiiiiiiiiiiiennen. 9,000
UnearNed reVENUE .......coooiiiiiiiieiee et e e 315
Current portion of long-term debt ...........cccoveeiiiiennnnni, 10,000
Notes payable (due in 14 months).......ccccccvivviiiiiinnnnnnnn. 1,100
Total [iabilitieS......ccceiiiiiie e $21,115
Stockholders’ equity:
Paid-in capital.......cccccccooiiiiii e $ 1,750
Additional paid-in capital ........ccccoeeeiiiiii, 4,000
Retained arnings ... 1,000
Treasury StOCK ... (400)
Total stockholders’ equity .......cccccveeeiiiiieeeiiiieeeee, $ 6,350
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Total assets = Total liabilities + Stockholders’ equity = $21,115 + $6,350 = $27,465

Debt ratio = Total liabilities/Total assets = $21,115/$27,465 = 76.9%

PRACTICE 3-13 DEBT RATIO

Total liabilities = $1,300 because Accounts payable is the only liability item in the list.

Total contributed capital:

Preferred stock, at par ......cccceevvevveeeeveeieiiiiiiiiiiiiiiinnnens $ 3,450
Additional paid-in capital, preferred...............eoee..... 150
Common StOCK, at Par..........eeevevereriiiieriiiiniiieiennannnn. 170
Additional paid-in capital, common...............ccc.....e. 8,200

Total contributed capital ... $11,970
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PRACTICE 3-13  (Concluded)

Ending retained earnings:

Retained earnings (beginning)......ccccccevvvvvviivevenennnnen. $ 6,500
PIUuS: Sales ... 9,700
Less: Total eXPeNnSeS .....cccovvvvivviiiiiiiieeeeeeeeeeeeeeeeeeeee (5,650)
[ A VAT =T [0 KPP (950)

Ending retained earnings........cccccceeeeviiiiiiiineenenn. $ 9,600

Total stockholders’ equity:

Total contributed capital..........cccceveveeeiiiiiiiee. $11,970
Plus: Ending retained earnings ..........ccccccveeveeeeennnns 9,600
Less: Treasury StOCK.......ccccuvueieieieeeee e (375)

Total stockholders’ equity ......cccccvvveveieeeiiiiiinnee, $21,195

Total assets = Total liabilities + Stockholders’ equity = $1,300 + $21,195 = $22,495

Debt ratio = Total liabilities/Total assets = $1,300/$22,495 = 5.8%

PRACTICE 3-14 ASSET MIX
a. Inventory/Total assets = $2,000/$12,200 = 16.4%

b. Property, plant, and equipment/Total assets = $8,000/$12,200 = 65.6%

PRACTICE 3-15  ASSET MIX

Total Assets:

CASN s $ 400
Investment Securities (trading) ........ccccevvvvviiiiiiiieeeeeee, 250
Accounts Receivable.........ccooiii 700
INVENTOTY ..o 4,000
Prepaid EXPENSES ..ot 1,100
Property, Plant, and Equipment..........ccccccveeeeiiniinnnee. 10,000
GOOAWIIT e 9.000

TOtal ASSELS ...viiiiiieiiieiie ettt $25,450

a. Inventory/Total assets = $4,000/$25,450 = 15.7%

b. Property, plant, and equipment/Total assets = $10,000/$25,450 = 39.3%

PRACTICE 3-16 MEASURE OF EFFICIENCY

Asset turnover = Sales/Total assets = $50,000/$12,200 = 4.10
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PRACTICE 3-17 RETURN ON ASSETS

Return on assets = Net income/Total assets = $3,600/$12,200 = 29.5%

PRACTICE 3-18 RETURN ON EQUITY

Return on equity = Net income/Total equity = $2,000/$7,800 = 25.6%

PRACTICE 3-19 ACCOUNTING FOR SUBSEQUENT EVENTS

The January 16 study results yield better information about conditions that existed
on the December 31 balance sheet date. The study indicates that $215,000 is a better
estimate of the December 31 warranty liability than is $150,000. Thus, the reported
warranty liability should be $215,000.

PRACTICE 3-20 ACCOUNTING FOR SUBSEQUENT EVENTS

The additional $87,000 in warranty liability was created after the December 31 bal-
ance sheet date. There is no reason to question the $100,000 warranty liability esti-
mate as of December 31. Thus, the reported warranty liability should be $100,000,
with note disclosure outlining the problem with poor-quality materials that arose after
the balance sheet date.

PRACTICE 3-21 BOOK-TO-MARKET RATIO

Book-to-market ratio = Stockholders’ equity/Market value of equity = $7,800/$10,000 =
0.78
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EXERCISES
9) ) 11. (a)
(b) 12. (b)
(f) or (g)* 13. (d)
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(f) 15. ()
() 16. (c) ()
(f) or (h) 17. (a)
(i) 18. (a)
® 19. (a)
(e) 20.

current asset
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(e) As discussed in Chapter 16, can also be (a),

*If bonds are expected to be refinanced and the necessary criteria are met.

Account

Treasury StOCK ..o
Retained EarningsS......c.cccoeviivviiiiieneeeeeeeens

Vacation Pay Payable .........c.ccccccvvvviiinnnnnnn.

Foreign Currency Translation Adjustment
Allowance for Bad Debts...........cccevvvvveeeenen.
Liability for Pension Payments...................

Investment Securities (Trading) .................
Paid-In Capital in Excess of Stated Value..

Leasehold Improvements..........cccccvvvvvrennenn.

GOOAWIT e
Receivables—U.S. Government Contracts
Advances to Salespersons

Premium on Bonds Payable........................

INVENTOIY oo

Classification

Other equity portion of the
Owners' Equity section

Retained earnings in the
Owners’ Equity section

Current liability

Other equity portion of the
Owners' Equity section

Offset against receivables in
the Current Asset section

Other noncurrent liability
except for current portion

Current asset

Additional paid-in capital in
the Owners’ Equity section

Property, plant, and equip-
ment

Intangible asset
Current asset
Current asset

Added to bonds payable in
Long-Term Debt section

Current asset



68

Chapter 3

3-23. (Concluded)

3-24.

3-25.

(0)
(P)
(@)
(r)

()
(t)

(u)

(v)

(b)
(c)
(d)
(e)

(@)
(b)

(c)

(d)

(e)

Patents ......uuveiieiiiiiiii Intangible asset

Unclaimed Payroll Checks ........cccccccceeenne Current liability

Income Taxes Payable..........ccccccceinnininnnne. Current liability

Subscription Revenue Received

INAVANCE ... Current liability

Interest Payable.......ccccccoiiiiiiiiiie, Current liability

Deferred Income Tax ASSel.......ccccvvvvvvvennnns Other noncurrent asset or,
as discussed in Chapter 16,
can also be a current asset

TOOIS oo Property, plant, and equip-
ment

Deferred Income Tax Liability ..................... Other noncurrent liability or,
as discussed in Chapter 16,
can also be a current liability

Not an asset. No probable future economic benefits are associated with

the mine.

Not an asset. There certainly are future economic benefits associated with
the geologists, but they are not controlled by Ingalls, because they always
have the option of quitting.

Not an asset. The probability of future economic benefit from the crater is
low.

Not an asset. The real estate is not currently controlled by Ingalls.

Not an asset. The oil field has future economic benefit, but it is not yet
controlled by Ingalls as a result of a past transaction.

Not a liability. There was a liability, but since the payment was made, no
further future sacrifice of assets will be required.

Liability. Pauli is obligated to deliver services in the future as a result of
events (receipt of the advertising) that have already occurred.

Liability. It is probable that Pauli will have to sacrifice assets in the future
(new carpets) as a result of events that have already occurred (past sales
of guaranteed carpets).

Not a liability. Although it is probable that Pauli will have to make pay-
ments in the future, the events necessitating those payments have not yet
occurred.

Not a liability for the same reasons in (d).
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3-26.

3-27.
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Balance Sheet

Assets
Current assets:
Cash
Investment securities (trading)
Accounts receivable
Less allowance for bad
debts
Interest receivable
Inventory
Prepaid insurance
Total current assets
Investments:
Investment in subsidiary
Net pension asset
Total investments
Property, plant, and equipment:
Land
Buildings
Less accumulated depreciation
Equipment
Less accumulated depreciation
Total property, plant, and
equipment
Intangible assets:
Patents
Goodwill
Total intangible assets

Total assets

Current assets:
Cash in general checking account

Cash held to pay sales taxes...........
Accounts receivable.........cccceeeennnnn.
INVENLOIY ..o,
Prepaid insurance..........ccccceecvvnnnnnnns
Used equipment to be sold...............

Current liabilities:

Accounts payable .........ccccciiiiininn
Note payable—due July 2014 ..........
Salaries payable........ccccoooiiiieennn.
Sales taxes payable........ccccccceeeeenns
Working capital ........ccccceeeeeiiiiiiiiiiiieneen,

Liabilities
Current liabilities:
Notes payable (current)
Accounts payable
Income taxes payable
Salaries payable
Estimated warranty expense
payable
Total current liabilities
Noncurrent liabilities:
Long-term debt:
Bonds payable
Premium on bonds payable
Deferred income tax liability
Total noncurrent liabilities
Total liabilities

Stockholders’ Equity
Contributed capital:
Common stock
Paid-in capital in excess of stated
value
Paid-in capital from sale of
treasury stock
Total contributed capital
Retained earnings
Total stockholders’ equity

Total liabilities and stockholders’
equity

$ 34,000
18,000
113,000
111,000
15,000
9,000

—_——

$300,000

$ 79,000
27,000
11,000
23,000 140,000

$160,000
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Assets Liabilities
Current assets: Current liabilities:

Cash....coooeeieiiieeceeie $ 8,500 Accounts payable..............

Investment securities....... 5,250 Current portion of bonds
Accounts receivable, net. 21,350 payable..........cccoieinnn.
Inventory .......ccccevveeeveenneee. 31,000 Loan due on demand ........
Land held for resale.......... 8,000 Dividends payable.............
Other current assets ........ 10,200 Other...oooociiiiiiee,
Total current assets ...... $ 84,300 Total current liabilities ...

Long-term liabilities:
Noncurrent assets: Bonds payable..................
Investments .......occcevveen. $ 2,750 Other liabilities ..................
Property, plant, and Total long-term

equipment, net............... 56,800 liabilities........ccccceveee.
Restricted cash: Total liabilities .........cccccveenes

For preferred stock ....... 19,000 Owners’ Equity
For equipment ............... 4,000 Preferred stocK..........oceeeeees
Advance to company Common stock ....................
president ..........cccoeeuveee 4,000 Retained earnings................
Other noncurrent assets.. 13,600 Less treasury stock .............
Total noncurrent Total owners’ equity..........
assetS ...ococevvvvviieeieeee, $100,150 Total liabilities and owners’
Total assets.........cceeeveeennen. $184,450  eqUItY ..ccooieiiiieee e,

COMPUTATIONS:

Cash: $12,500 — $4,000 (a)
Investment securities: $8,000 — $2,750 (b)
Land held for resale: $8,000 (h)
Other current assets: $14,200 — $4,000 (c)
Property, plant, and equipment: $64,800 — $8,000 (h)
Restricted cash: $19,000 (g)

$4,000 (a)
Investments: $2,750 (b)
Advance to company president: $4,000 (c)
Current portion of bonds payable: $2,500 (d)
Loan due on demand: $7,000 (e)
Dividends payable: $15,000 (f)
Bonds payable (long-term): $10,000 — $2,500 (d)

2,000
$ 29,900

$ 7,500
15,750

$ 23,250
$ 53,150

$ 19,000
50,000
66,800

(4,500)
$131,300

Other long-term liabilities: $32,750 — $2,500 (d) — $7,500 (d) — $7,000 (e)

Preferred stock: $19,000 (g)
Retained earnings: $81,800 — $15,000 (f)
Treasury stock: formerly shown incorrectly as a noncurrent asset
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3-29.

3-30.

(a)
(b)
(c)
(d)
(e)

1. (@) Current assets:

22,642
129,515
380,465
295,772
88,484

(b)

(c)

(d)

(e)

(f)
(9)
(h)
(i)
1)

145,372
159,991
21,842
43,911
65,753

(k) 78,145
() 468,770
(m) 441,732
(n) 792,514

CaSh e

Investment securities (trading)

Notes receivable

Accounts receivable

Less: Allowance for doubtful accounts
Accrued interest on notes receivable ......

Inventory
Prepaid expenses
Total current assets

Property, plant, and equipment:

Buildings

Equipment

Total property, plant, and

equipment

Intangible assets:

Patents

Franchises
Total intangible assets

Total assets:
Current assets
Property, plant, and equipment
Intangible assets
Total assets

Current liabilities:

Accounts payable
Notes payable—trade creditors

Cost

$79,500
(4,600)

Accumulated
Depreciation
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$ 43,700
15,000
22,000

74,900
2,100
59,300
8,200
$225,200

Book
Value

$103,000
192,000
37,000

$21,000
5,900

$103,000
171,000
31,100

Accrued interest on notes payable.....
Accrued interest on bonds payable ...
Accrued interest on mortgage payable

Total current liabilities

$26.900

$305,100

$ 85,000
82,110
$167,110

$225,200
305,100
167,110
$697,410

$ 57,600
11,000
950
7,500

4,320

$ 81.370
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3-30.

3-31.

Chapter 3
(Concluded)
(f) Noncurrent liabilities:
Bonds payable, 8%—issue 1............... $ 65,000
Premium on bonds payable.............. 2,500 $ 67,500
Bonds payable, 12%—issue 2............. $125,000
Discount on bonds payable.............. 12,500 112,500
Mortgage payable.........cccooiiiiiinennnnn. 72,000
Total noncurrent liabilities................... $252,000
(@) Owners’ equity:
Contributed capital:
Capital stock, par value $1,
10,000 shares authorized,
5,000 shares issued.........ccccceeenneee. $ 5,000
Additional paid-in capital.................. 123,700 $128,700
Retained earnings ........ccccoecvvvvveeeeneenn. 251,340 $380,040
Less: Treasury stock—at cost (500
Shares) ..o, (16,000)
Total owners’ equity.......cccccevvevveeennenne. $364.040
(h) Total liabilities and owners’ equity:
Current liabilities ......ccceevveviieiiee, $ 81,370
Noncurrent liabilities............cccccceeeeen. 252,000
OWNErs’ eqUILY ......uuvevreveeiriririiiiininennnenns 364,040
Total liabilities and owners’ equity..... $697.410

2. (&) Current ratio = $225,200/$81,370 = 2.77
(b) Debt ratio = ($81,370 + $252,000)/$697,410 = 0.48

The computation of Riverton Company's ratios is as follows:

Current ratio ($55,000/$25,000) .......ccccovvvrvreeeiirrereeeenne 2.20
Debt ratio ($95,000/$150,000) .......cceeveereeeeiiiiiiriiiieeneaenn. 0.63
Asset turnover ($275,000/$150,000).........cccccureenineennn 1.83
Return on assets ($18,000/$150,000).........cccccveeriuveennnn 12.0%

Return on equity [$18,000/($150,000 — $95,000)] ......... 32.7%
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3-32.

3-33.

73
Schlofman Company has the following assets and asset mix:
Asset Total Industry
Amount  Assets (%)  Asset Mix
Cash . $ 20,000 4.9% 7.0%
Accounts receivable .............ccceeeeen. 60,000 14.8 15.0
INVENTOIY covveiiiieiieee e 105,000 25.9 18.0
Property, plant, and equipment ........ 220,000 54.3 60.0
Total asSetS...ccccovvvveiiieeiiie e $405,000 100.0% 100.0%

Note: Items do not total to 100% due to rounding.

Schlofman Company holds 25.9% of its total assets in the form of inven-
tory, whereas the corresponding percentage for the industry is just 18%.
Schlofman has too much inventory compared to other companies in its in-

dustry.

(@) (1)

(b) (2)

(c) (1)

(d) 3

(e) (2)

(f) (1)

(@) 3)

The customer’s financial condition was deteriorating at the end of
the year, and the bankruptcy confirmed the doubtful nature of the
account. An increased allowance adjustment would be required.

Since the event occurred after the year-end, it would not be re-
corded in the financial statements. However, because damage to
the plant was extensive, the event should be disclosed in the notes
to the statements.

The event that caused the loss occurred in a previous period. The
settlement of the case confirmed the amount of the loss and
should be recorded in the financial statements. Depending on the
facts of the case, the loss will be recorded either as an extraordi-
nary item or as a separate item in the operating income section.

The U.S. trade deficit is a well-publicized fact. Unless some specific
regulation or event created an unusual impact on the company,
this information would not require disclosure in the notes.

A major change in equity during the subsequent event period
should be disclosed in the notes. This event will affect the state-
ments to be issued at the close of the subsequent period.

If $25,000 is considered material, the income tax expense and tax
liability should be adjusted for the new information. Because the li-
ability relates to the financial statements currently being issued, an
adjustment should be made to the accounts.

The information would probably be conveyed through a source
other than the financial statements, such as a press release.
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3-34.

3-35.

Chapter 3

(a) Report the amount as a subtraction in the Equity section of the balance
sheet.

(b) Note disclosure.
(c) Report the detail in the income statement or as a note disclosure.
(d) Report the amount in the balance sheet as Allowance for Bad Debts.

(e) Contingent liability mentioned in the note disclosure, but no amount
recognized because the contingency is not described as being prob-
able.

(f) Report the amount in the income statement.
(g9) Report the amount as a long-term asset.

(h) Note disclosure.

(i) No financial statement disclosure.

(1) Note disclosure.

(k) No financial statement disclosure.

Note 1. Summary of Significant Accounting Policies

Receivables. An allowance account is provided for the estimated uncollect-
ible accounts.

Inventories. Inventory is valued using the LIFO method. If the Company had
used the FIFO inventory method, the ending inventory would be reduced by
$50,000 and net income for the year would be reduced by $35,000 after
taxes. Consignment inventory is carried as an asset by Delta until it is sold
by the consignee.

Equipment. The Company depreciates its equipment using the straight-line
method. The current value of the equipment is $525,000.

Note 2. Receivables
The receivables amount of $126,000 includes the following balances:

CUStOMErs’ aCCOUNTS ...uvvviieiiiieeiiiiie e $ 70,000
CUStOMErs’ NOLES ....oooiiiiiiiiiiiieiieeeeeeeeeeeeeeee 30,000
Advances to sales representatives...........ccccccee.... 10,000
Advance to president of company..........ccccceveeeeenn. 25,000
TOTAl i $135,000
Less allowance for bad debts ........cccccceiiiiiiiinnen. (9,000)
Net receivables .......ccoceeovieeiiiiecce e, $126.000

Note 3. Anticipated Merger

The Board of Directors is discussing a merger with another chemical com-
pany. No final decision has been made as of the date these statements are
being issued; however, it is anticipated that additional shares of stock will
be issued as part of any merger.
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3-35. (Concluded)

Note 4. Notes Payable

The Company borrowed $350,000 on a 10-year note at 14% interest. The
note is due on July 1, 2020. Equipment has been pledged as collateral for
the loan. The terms of the note prohibit any additional long-term borrowing
without the express permission of the note holders. Because of a need for
additional financing next year, management is planning to make such a

request.
3-36.
Reported Total Market Value Book-to-Market
Stockholders’ Equity of Equity Ratio
Company A $15,000 $82,000 0.18
Company B 15,000 11,000 1.36

It is more likely that Company A is the successful Internet retailer and Company B
is the traditional steel manufacturer. Most of the economic assets of the steel
manufacturer would be included in the company’s balance sheet, suggesting that
the book-to-market ratio would be close to 1.00. For the successful Internet re-
tailer, most of the economic assets are intangibles not included in the balance
sheet; this would lead to a very low book-to-market ratio.
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PROBLEMS
3-37.
1. Working capital = $180,000 — $88,000 = $92,000
Current assets: Current liabilities:
Accounts receivable..................... $ 40,000 Accounts payable............... $ 66,000
Advances to salespersons........... 10,000 Rent revenue received in
Allowance for bad debts .............. (20,000) advancCe........cccccoviinvnnnnn. 12,000
Cash . 22,000 Taxes payable...........cece. 10,000
Certificates of deposit .................. 16,000 Total current liabilities .... $ 88,000
INVENTOTY .o, 75,000
Investment in Siebert Co. stock .. 21,000 Total liabilities:
Prepaid insurance..............cccoeeuee. 6,000 Current liabilities ................ $ 88,000
Total current assets........ccc........ $180,000 Bonds payable.................... 100,000
Premium on bonds payable.. 6,000
Total assets: Deferred income tax liability. 46,000
Current assetS......ccoecveevieeeiininennn, $180,000 Total liabilities.................. $240,000
Equipment ..o 215,500
TOOIS oo 52,000 Owners’ equity:
Accumulated depreciation ........... (44,000) Common stock (par)........... $100,000
Investment in Rowe Qil Co. stock 76,500 Paid-in capital in excess of
Total asSets .....cccccvvveevveeecieeen, $480,000 1 | RPN 42,500
Retained earnings.................. 97,500
Total owners’ equity ........... $240,000

2.

Owners’ equity per share of stock:
$240,000 + 75,000 = $3.20

Current ratio = $180,000/$88,000 = 2.05
Debt ratio = $240,000/$480,000 = 0.50
Return on equity = $20,000/$240,000 = 8.33%
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3-38.
1. Pennington Investment Corporation
Balance Sheet
January 31, 2013
Assets
Current assets:
(OF=1o] o 1] o 1 4 = s (o IR $ 96,250
Cash iN DANKS ... 8,320
Investment securities (trading).......ccccccvvvvvvviice 83,750
Notes receivable ..o $ 32,960
Accounts receivable..............ccccc 158,200
$ 191,160
Less allowance for doubtful notes and accounts
[FToT<TAVE=1 o] [T (24,700) 166,460
INTErESE FECERIVADIE ..o 2,700
Claim for income tax refund.........c.oveeeiee e 4,000
TV ] 0 V2 201,500
Prepaid expenses:
Prepaid iNSUIranNCe..........ccooevvivieeeeeee e, $ 3,900
Miscellaneous supplies inventory........ccccceeeeeee.... 4,200 8,100 $ 571,080
Long-term investments:
Cash fund for stock redemption.........cccccvvvivviiiiniiiniiiiein. $ 17,500
Investments in undeveloped properties ........cccccvvvveeeeeniiiiinnnn. 193,500 211,000
Property, plant, and equipment:
=T g Yo [ PUPPPPRRRR $213,000
BUITAINGS oot $ 320,000
Less accumulated depreciation ..........ccceevvveeeenenee. (139,500) 180,500
Machinery and equipment.........c..ccoeviiiiiiiiiiiininiennnnns $ 165,500
Less: Accumulated depreciation.........ccccccveeeeenee. (116,300) 49,200 442,700
TOAl ASSELS ..t $1,224,780
Liabilities
Current liabilities:
NOLES PAYADIE.....uuiiiiiiie e $ 68,320
AcCCOoUNtS payable ... 92,400
Salaries and wages payable .........cccccviviiiiiiiiiii 15,700
Income taxes payable..........cccccoi e, 18,000
Interest payable.........cccco 5,790
Employees’ income taxes payable........cccccoiiieiiiiiiiiieniiieeens 4,360 $ 204,570
Noncurrent liabilities:
Notes payable (AU 2016) ........cceeveiiiiiiiiiiiieiieeeeeeeiiee e 63,800
TOtal HADIITIES et $ 268,370
Owners’ Equity
Contributed capital:
Preferred stock, $5 par, 57,000 shares.................... $ 285,000
Common stock, $1 par, 55,000 shares.................... 55,000
Additional paid-in capital—common stock ............ 605,000 $945,000
Retained earnings ... 11,410
Total OWNEIS’ @QUITY .o 956,410
Total liabilities and owners’ equUity........cccccceiviiiiiiiecee, $1,224,780

2. Current ratio = $571,080/$204,570 = 2.79
Debt ratio = $268,370/$1,224,780 = 0.219
Asset turnover = $7,000,000/$1,224,780 = 5.72
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3-39.

Brockbank Research Corp.
Balance Sheet

December 31, 2013

Chapter 3

Current assets:
Cash
Accounts receivable—trade....... $ 57,731

Less: Allowance for bad debts (1,731)
Insurance claims receivable

(NOTE 2).eeeeeieee . 80,000
Inventories (Note 1a).......ccccccvuvrvnnrnnnnnnnnnnnnnnns 201,620
Prepaid insurance............ccccccccciiininn,

Investments:

Cash fund for bond retirement
Investment in unconsolidated
subsidiary ..o

Property, plant, and equipment:

Land
Leasehold improvements

56,000

$ 65,800

Furniture, fixtures, and store
equipment......cccccccvvvviiiiiiiinenn,

Automotive equipment ...............

769,000
132,800
$967,600
Less: Accumulated
depreciation (Note 1b) ...........
Intangible assets (Note 1c):

(579,472) 388,128

FranChiSES .. coveeeeeeieee e $ 12,150
Patent [ICEeNSES ....coovieeeeeee e 57,402

Other noncurrent assets:
Insurance claims receivable (Note 2) ...........
Total assets (NOte 4) .....ueeveveeeiiiiiiiiiiieee e

See accompanying notes to financial statements.

83,600

Liabilities
Current liabilities:
Notes payable—trade..........ccccccceerrinnnen. $ 63,540
Notes payable—banks........ccccccvvvvvvnnnnen. 12,000
Accounts payable.........cccccccviiiiiiiininnn, 32,160
Dividends payable ........cccccccvvvvvviiiinnnnnnn. 37,500
Profit sharing, payroll, and
vacation payable.......................l 40,000
Long-term debt:
7¥2%—12% Mortgage notes payable ....
Deferred income tax liability ...............
Total liabilities ......cccceeeeiiiiiiiiis
Owners' Equity
Contributed capital:
Common stock, $1 par,
100,000 shares authorized,
35,000 shares issued
and outstanding................. $ 35,000
Additional paid-in capital ..... 265,000 $300,000
Retained earnings........cccccccvvvvvvveninnnnnnnnnnnns 225,800

Total owners' equUIty .....cccceeevviciiiiineeeenenns

Total liabilities and owners' equity............

200,000
45.000
$430,200

525,800

$956.000
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3-39. (Concluded)

BROCKBANK RESEARCH CORP.
NOTES TO FINANCIAL STATEMENTS—YEAR ENDED DECEMBER 31, 2013

1. Summary of significant accounting policies

(&) Inventories are stated at the lower of cost or market. Cost is calculated by
the specific identification method.

(b) Depreciation is computed using the straight-line method over the estimated
useful lives of the assets.

(c) The costs of an exclusive franchise to import a foreign company’s ball bear-
ings and a related patent license are being amortized on the straight-line me-
thod over their remaining lives of 10 years and 15 years, respectively.

2. Insurance claims, based on the opinion of an independent insurance adjustor, are
for property damages at the central warehouse. These claims have been classified
as current and noncurrent based on the company’s estimate of probable settle-
ment dates.

3. The company leases all of its buildings. Rental lease commitments are $50,000
per year for the next 10 years. All leases are operating leases.

4. The company is currently in litigation over a $13,000 overpayment of income
taxes. In the opinion of counsel, the claim is valid, but no legal right to the over-
payment exists as of the date of the report.

5. The company is contingently liable for $12,000 of guaranteed notes.

3-40.
Sierra Corp.
Liabilities
December 31, 2013

Current liabilities:

Notes payable—trade ........cccceeeiiiiiiee i $ 19,000
Notes payable—bank (NOte 1) .......ccccoeeriiiiiiiiiiiiieeeeeeeeis 30,000
Accounts payable ... 85,000
Wages and salaries payable ........ccccooeiiiiiiiiiiiis 1,500
Interest payable...........ooiiii e 14,300
Mortgage note payable (NOte 2) ..o, 64,000
Bonds payable (NOtE 3) .......uiiiiiiiieeee e 200,000
Total current Habilities.......ccoccvevieeiiieieee e $413,800
Noncurrent liabilities:
Mortgage note payable (NOte 2) ..........evvvvivivvriviunnnniininnnnnnns $146,000
Notes payable—bank (NOte 4) .........ccccvvvvviviiniiiniiiiiiiiiiinnnnns 50,000
Total noncurrent liabilities .........ccccoiiiiieee, 196,000

TOLAl HADIITIES e nenenne $609,800
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3-40.

Note 1.

Note 2.

Note 3.
Note 4.

Chapter 3

(Concluded)

This is an 8% note to First Interstate Bank issued March 1, 2011. Payable
on demand.

Sierra has two mortgage notes outstanding. (1) $60,000, 10%, 10-year note
due October 1, 2020. Terms of this note give the holder the right to demand
immediate payment if the company fails to make a monthly interest pay-
ment within 10 days of the date the payment is due. Because Sierra is three
months in arrears on these payments, this $60,000 note is classified as a
current liability. (2) 12%, 20-year note, current balance $150,000. Payments
of principal and interest due annually until 2027. $4,000 of the April 30,
2014, payment applies to principal and is classified as a current liability.
The remaining principal balance of $146,000 is classified as a noncurrent
liability.

The 10-year, 8% bonds mature on June 30, 2014.

The 1-year, $50,000, 11%2% note to First Interstate Bank matures on January
2, 2014. On December 30, 2013, a written agreement was entered into with
First Interstate Bank to replace this note with a new, 2-year, $50,000, 10%
note to be issued January 2, 2014. Because of this agreement, the note is
properly classified as noncurrent.
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3-41.

Midway Company
Balance Sheet
June 30, 2013

Assets

Current assets:

Cash .. $ 44,500

Investment securities—trading........ccccceeeeviieeiiieeiiiiiie e 53,700

INVENTOTIES .t 635,100

Prepaid EXPENSES ....ccocuviiie et e et e 41,000 $ 774,300
Investments:

Bahen BUuilders ... 275,000
Property, plant, and equUIpMeNt.......ccccooriiiiiiiiiiiieee e $330,000

Less: Accumulated depreciation .........cccccoovviiiiiiiiiieneeennenes (150,000) 180,000
Other noncurrent assets:

Deposit made on future delivery of special inventories....... 25,000
TOtAl ASSELS c.oiiiiiiiiiiiiiiieeeeeeeeeeeeeeeee e —————— $1,254,300

Liabilities

Current liabilities:

NOtES PAYADIE ... $ 55,000

ACCOUNLS PAYADIE.....uiiiiiiiiii 240,000

Taxes PAYADIE .....occiiieee e 37,000 $ 332,000
Long-term debt:

NOtES PAYADIE ... $ 95,000

Bonds payable........ccooiiiii $325,000

Less discount on bonds payable ................... (25,000) _300,000 395,000

Other noncurrent liabilities:

Deferred income tax liability .........ccccoeeeiiiiiiiiiiii e, $ 71,000

Liability under pension plan........ccccoeviii 49,000 120,000
Total HabilitieS....cceiiieiccie e $ 847,000

Owners’ Equity
Contributed capital:
Common stock, $1 par, 15,000 shares issued

and outstanding .....ccccoeevviiiieee e $ 15,000
Additional paid-in capital..........cccccceeeeiiiiiiiiiiinnn. 227,200 $242,200
Retained earnings:
Restricted for building expansion .........cc.c.......... $112,000
UNFESEICEEA ..o 53,100* _ 165,100
Total OWNErs’ EQUILY .....coovviiiiiiiiiiieeeeeeeeeeeee e 407,300
Total liabilities and owners’ eqUItY .........ccccvveeviciiieeeeiciiie e $1,254,300

*$138,100 — $85,000 unrecognized goodwill = $53,100.
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3-42.

St. Charles Ranch
Balance Sheet
December 31, 2013

Chapter 3

Assets

Current assets:

Cash onN hand..........oooviiiiiiiiiiieeeee s $ 10,640

Cashinbank .....ccccoooiii e 34,505

Accounts receivable ..., $ 40,500

Less: Allowance for bad debts ........................ (2,430) 38,070

Claim for income tax refund.........ccccccvvvviiiiiiiiiiiiieeeeee, 2,800

Feed inventory (at cost) ($37,000 X 25%0) .......cccceevvveeerveeennnen. 9,250

Grain inventory (at market) ........ccccoeiiiiiii 42,500 $137,765
Property, plant, and equipment:

[ o Vo PRSPPI $490,000

Buildings and equipment .........cccccoeeeiiieiieeeeeeee, $176,400

Less: Accumulated depreciation..................... (70,560) 105,840 595,840
TOLAl ASSELS wueiiiiiieieiie et $733,605
Liabilities

Current liabilities:

AcCcoUNtS PAYADIE.......ooiiiiiiiie e $ 37,000

Mortgage payable—current portion .........cccccooeeiiiiiienenenennenn. 25,000

Income taxes payable ... 18,500

Bonus payable........cco 9,000

Dividends payable.........ccccooiiiiii e 30,000  $119,500
Noncurrent liabilities:

Mortgage payable......ooooiiiii 225,000
Total llabilitieS .....cccuveieiicee e $344,500
Owners’ Equity

Contributed capital:
Common stock, $1 par value,
14,000 shares issued and outstanding ............... $ 14,000
Additional paid-in capital.........ccccceeeiiiiiiiiiiiiinnnnn, 276,000  $290,000
Retained @arniNgS™ ........uuuuuuuuiiuiiiiiiiiiiiiiiiniiiiii e 99,105
Total OWNErs’ EQUILY ....ccoviviiiiiiiieiieeeeeeeeeeeeeeeeeeeeeee e 389,105
Total liabilities and owners’ equity .......ccccccvvvviveiiieiieeeeeeeeeeeeeee $733,605

*Amount needed to balance the statement.

Note: The question of when to recognize a liability for property taxes—when the
taxes are assessed or as the tax year elapses—is actually quite complicated. This so-
lution assumes that the liability is recognized as the tax year (2014) elapses. Thus, no

liability is recorded at the end of 2013.
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3-43.
balance sheet.

Chordwise Music, Inc.
Work Sheet for Corrected Balance Sheet

June 30, 2013

83

A work sheet is not required, but it facilitates the preparation of a corrected

Account Title

Current ASsets .......ccceeeuneee.
Other AssetS.....ccooeeevvevvnnnnnns
Current Liabilities................
Other Liabilities ...................
owners’ EQUItY .......evvvvvnennns

Investment Securities—
Trading.....ccoceeeveeeeiiiiiienen,
Accounts Receivable..........
INVeNtory ......ccooeveveeiiieeieennn.
Advertising Supplies...........
Property, Plant, and
Equipment.........................
Accumulated Depreciation—
Buildings and Equipment
Retained Earnings...............

Deposit with Supplier..........
Payroll Payable....................
Taxes Payable ...................
Rent Payable.............o....
Accounts Payable ...............
Notes Payable...........c..........
Note Receivable ..................
Mortgage Payable (current
POrtion) ...vvvveevieeiiieeeeee,
Mortgage Payable
(noncurrent portion) ........
Preferred Stock (15,000
shares at $20 par).............
Common Stock (175,000
shares at $1 stated value)
Paid-In Capital in Excess
of Stated Value.................

Corrections:

Corrected
Balance Sheet Corrections Balance Sheet
Debit Credit Debit Credit Debit Credit
286,800  ....o.... . (& 286,800 @ ...
630,600  ....o... . (b) 630,600 ... ...
......... 158,920 (c) 158,920
......... 200,000 (d) 200,000
......... 558,480 (e) 558,480
917,400 917,400
.................. (@) 51,000 51,000
.................. (a) 40,000 40,000
.................. (&) 68,300 68,300
.................. (a) 124,000 veeee. 124,000
.................. (@ 3,500 3,500
.................. (b) 775,000 veveeeeen 175,000
........................... (b) 220,500 s 220,500
.................. (b) 65,400
.................. (f) 236,520 veeree. 301,920
.................. (b) 10,700 10,700
........................... © 4,050 4,050
........................... (© 8,870 8,870
........................... (c) 7,700 7,700
........................... (c) 111,300 e 111,300
........................... (c) 32,000 32,000
.................. (c) 5,000 5,000
........................... (d) 40,000 40,000
........................... (d) 160,000 veveeeeen 160,000
........................... (e) 300,000 veeeenee. 300,000
........................... (e) 175,000 viveeeee. 175,000
(e) 83,480
........................... (f) _236,520 eeee. 320,000

2,296,820 2,206,820 1.379.420 1,379,420

(a) To establish current asset balances

(b) To establish other asset balances and eliminate goodwill

(c) To establish current liability balances
(d) To establish mortgage payable balances
(e) and (f) To establish owners’ equity balances
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Chordwise Music, Inc.
Balance Sheet
June 30, 2013
Assets
Current assets:
[@F= ] o RSP $ 51,000
Investment securitieS—trading ......ccccccceveviiiiiiiiiieenee e 40,000
Note receivable ... 5,000
AccouNtS receivable ... 68,300
INVENTOTY ot e e 124,000
Deposit With SUPPHIET .. 10,700
AdVErtising SUPPHES ....ccovvviiie e 3,500 $302,500
Property, plant, and equUIpMeNnt.......ccccoiiiiiiiiiiiieee e $775,000
Less: Accumulated depreciation .........cccccoovviiiiiiiieieneeeenenee (220,500) 554,500
TOLAl @SSELS wuiiiiiiiic ittt $857,000
Liabilities
Current liabilities:
NOLES PAYADIE ... $ 32,000
ACCOUNLS PAYADIE.....uuiiiiiii 111,300
Mortgage payable (current portion).......cccceeeeveeeieiieeee e, 40,000
Accrued expenses:
Payroll payable.......cccccooviiiieeeiiee e, $ 4,050
Taxes payable........oo e 8,870
Rent payable ... 7,700 20,620  $203,920
Mortgage Payable ... 160,000
Total lIabilitIeS ..cceieiee e $363,920
Owners’ Equity
Contributed capital:
Preferred stock, $20 par,
15,000 shares issued and outstanding ........... $300,000
Common stock, $1 stated value,
175,000 shares issued and outstanding......... 175,000
Paid-in capital in excess of stated value............. 320,000 $795,000
Less: Accumulated defiCit..........ueeevviiiiiiiiiii e (301,920)
Total OWNErS’ EQUILY ..oooiieiieieieee e 493,080
Total liabilities and owners’ eqUItY ........ccccceveeiieeeiciiee e $857,000
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3-44. A work sheet is not required, but it facilitates the preparation of a corrected
balance sheet.
Appalachian Freight Company
Work Sheet for Corrected Balance Sheet
December 31, 2013
Corrected
Balance Sheet Corrections Balance Sheet

Account Title Debit  Credit Debit Credit Debit Credit
Cash .o 45,050  .eee. s e, 45,050 ...
Accounts Receivable.......... 112,500 ... e e, 112,500  .........
INVeNtory .....cccccovveeeniiieeene 204,000 ... e (b) 45,000 159,000 @ .........
Prepaid Insurance................ 8,800 ... ... . 8,800 ...
Property, Plant,

and Equipment ................. 376,800  ......... (c) 180,000 (c) 85,000 471,800 ...
Miscellaneous Liabilities.... ... 3,600 (d) 3,600 e e
Loan Payable....................... ... 76,200 e e, 76,200
Accounts Payable ............... ... 75,250 ... (b) 16,250  ......... 91,500
Capital StoCK ...cccccvvviiiiiiies e, 134,000 (h) 134,000 ... s
Paid-In Capital ......ccovvvvvvves oo 458,100 (i) 458,100  eeh e e

747,150 747,150
Retained Earnings............... . cociiees vveees (@ 4,800 (i) 308,500 ........ e
.................. (b) 61,250 veeenee 179,650
.................. (f) 18,250
.................. (g) 44,550
Allowance for Bad Debts.... ... ... ... (a) 4,800 ... 4,800
Accumulated Depreciation—

Buildings and Equipment  ......... ... (c) 85,000 (c) 180,000  ......... 95,000
Salaries Payable.......cccccceeeee iiiiiies e v, (d) 9,500 ... 9,500
Advances to Officers .......... . eeeevee e, (dy 5,900 ... 5900 ...
Deferred Income Tax Liability ......... ... ... () 44550 ... 44,550
Taxes Payable ..................... it i, (fh 18,250 ... 18,250
6% Preferred Stock, $20 Par  .........  .eeeees e, (h) 125,000 ... 125,000
Common Stock, $1 Stated

Value oo e e e (h) 9,000  ........ 9,000
Paid-In Capital in Excess

of Par and Stated Values on

Preferred and Common

5] o o1 QO (i) 149,600 _ ... 149,600

995,450 995,450 803,050 803,050
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3-44. (Concluded)
Appalachian Freight Company
Balance Sheet
December 31, 2013
Assets

Current assets:

CASH et $ 45,050

Accounts receivable .........cccoooiiiiiii $112,500

Less: Allowance for bad debts ........................ (4,800) 107,700

INVENTOTY ot e e 159,000

Prepaid iNSUTANCE ......cuvveiiiie e 8,800  $320,550
Property, plant, and equUIpMeNnt.......ccccoiiiiiiiiiiiiieee e $471,800

Less: Accumulated depreciation .........cccccoveviiiiiiiiiieneeeenenne (95,000) 376,800
Other noncurrent assets:

Advances to OffiCErS ... 5,900
TOtAl BSSELS .. $703,250
Liabilities

Current liabilities:

Loan payable to bank, current portion..........ccceeeeeeeeeeeeeeee. $ 25,000

Accounts payable........c 91,500

Salaries payable ... 9,500

Taxes PAYADIE ....ovi i 18,250 $144,250
Loan payable to Dank ... 51,200
Deferred income tax liability........cccoovuiimiiiiiiiiiiis 44,550
Total lIabilItIeS ..ceeieeeie e $240,000

Owners’ Equity

Contributed capital:

6% Preferred stock, $20 par, 6,250 shares ......... $125,000

Common stock, $1 stated value, 9,000 shares... 9,000

Paid-in capital in excess of par and stated

values on preferred and common stock......... 149,600 $283,600

Retained €arningS.........ueeiiiiaiiiiiiie e 179,650
Total OWNErs’ EQUILY .....coovviiiiiiiiiiceeeeeeeeeeeee e 463,250
Total liabilities and OWNers’ @qUItY ..........eeeereeeiriiiiiiiiiiieeeeeee e $703,250
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3-45. A work sheet is not required, but it facilitates the preparation of a corrected

balance sheet.

Delicious Bakery

Work Sheet for Corrected Balance Sheet

December 31, 2013

Corrected
Balance Sheet Corrections Balance Sheet

Account Title Debit  Credit Debit Credit Debit Credit

Current Assets .....ccceeeennnnns 53,415 ... ... (@ 53415 ... ...

Current Liabilities.....c...ccccee. o, 29,000 (c) 29,000 i e e

Other AssetS.....ccccccvvvvvnnnnnns 75,120 ... (b) 75,220 @ ... .

Other Liabilities ......cccccceeeeeee i 3,600 (d) 3,600  h e e

Investment in Business....... __......... 95935 (e) 95,935 ... .

128,535 128,535 = eies e e v,

Cash o e, (@ 10,600 ... 10,600 ...
Investment Securities—

Trading (at market value) ... ... & 257 2575 ...
Accounts Receivable.......... ... ... (& 12,500 ... 12,500 ...
INVeNtory ....ccooccvvvviis s, (@ 8,040 ... 8,040 ...
Supplies INnVentory ....ccccceeee. e e @) 425 425 ...
Delivery Truck .....cccccccvevs i s (@ 23100 ... 2,100 ...
FIXLUIES v e v, (@ 12,500 ... 12,500 ...
Accumulated Depreciation—

FIXTUIES oo et e e, (a) 2,100 ... 2,100
Cash Surrender Value of

Insurance on Officers’ Lives .......... ... (a 4,00 ... 4100 ...

Retained Earnings............. ccceeees e, (@ 2,675 Y

.................. (b) 7,750

.................. (d) 350 30,160

........................... (e) 40,935
[ Lo RN (b) 30,000 ... 30,000 ...
BUuildingsS...ccoooviviiiiiiiciiee vieiee e (b) 62,000 ... 62,000 ...
Accumulated Depreciation—

Buildings

[2%2 x ($62,000 + 20)] .ccccees vvveeees e e (b) 7,750 ... 7,750
11% Mortgage Payable

(noncurrent portion) ........ s s, (b) 12,000  ......... 12,000
11% Mortgage Payable

(current portion) ccccccceeeeees et e e (b) 4,000 ... 4,000
Interest Payable......cccccceeeeee. s s e, (b) 880 ... 880
Trade Accounts Payable.....  ......... e Ll (c) 29,000 ... 29,000
Miscellaneous Liabilities.... ... e e, (d) 3,950 ... 3,950
Capital Stock, $5 Stated

Value, 5,000 Shares...........  ceeeee vvvvveeee e, (e) 25,000 ... 25,000
Paid-In Capital in Excess

of Stated Value ..........ccccee. ciiiiiies vieeee e, (e) _30,000 _ ... 30,000

284,150 284,150 144,840 144,840

Corrections: (a) To restate current assets
(b) To restate other assets
(c) To restate current liabilities

(d) To restate other liabilities
(e) To restate owners’ equity accounts
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3-45. (Concluded)

Delicious Bakery
Balance Sheet
December 31, 2013

Chapter 3

Assets
Current assets:

Investment securities—trading (reported at

market; COSt $4,250) ...cciiuriiiiiieiiiieeiiee e eiee e
Accounts receivable (fully collectible)........cccccvviiiiiiiiiniiennnnns
INVENTOTY Lo e eeaas
SUPPHES INVENTOTY oo

Investments:
Cash surrender value of life insurance.........ccoovvevveeeeieennnnn.

Property, plant, and equipment:
Land ...
BUIldiNgS ...voveiie e $62,000
Less: Accumulated depreciation..................... (7,750)

FIXEUTES ettt $12,500
Less: Accumulated depreciation.................... (2,100)
Delivery truCK ...
TOtAl @SSELS .
Liabilities
Current liabilities:
Mortgage payable, current portion ........cccccccoeveiiiiiiiieieneeennenns
Trade accounts payable ...
INterest payable ...
Miscellaneous liabilities ...,

11% Mortgage payable (noncurrent portion).........ccccevvevvveennnnns
Total HabilItIES .....ueeeeiieeee e

Owners’ Equity
Contributed capital:

Capital stock, $5 stated value, 5,000 shares ...... $25,000
Paid-in capital in excess of stated value............. 30,000
Retained earnNinNgS..........uuuuuuiiiiiuiiiiiieiiiiiiinnnne.
Total owners’ eqUItY ......ccvvvvviieiiiiiiiiiiiieieeeeeeeeeeeee

Total liabilities and owners’ equity .........ccccceeeeeenns

$10,600
2,575
12,500
8,040
425  $ 34,140
4,100
$30,000
54,250
10,400
2,100 96.750
$134,990
$ 4,000
29,000
880
3950 $37,830
12,000
$ 49,830
$55,000
30,160
85,160
$134,990
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3-46. A work sheet is not required, but it facilitates the preparation of the Decem-
ber 31, 2013, balance sheet.
Looseleaf Corporation
Work Sheet for Balance Sheet
December 31, 2013
Balance Sheet Transactions Balance Sheet
January 1, 2013 2013 December 31, 2013
Account Title Debit  Credit Debit Credit Debit Credit
Cash oo 15,000 ......... (e) 350,000 (b) 295,000  .cecoee. e
.................. (g) 150,000 (a) 82,000 24,500
.................. (©) 8,500
.................. (f) 105,000
Accounts Receivable.......... 55,000 ......... (d) 390,000 (e) 350,000 95,000  ........
INVeNtory .....ccccovveeiiieeee 105,000 ......... (a) 395,000 (d) 320,000 180,000  .........
Equipment.........cocceviiiiee 110,000  ......... (f) 245,000 (f) 140,000 215,000 @ .........
Accounts Payable ............... . ......... 85,000 (b) 295,000 (a) 307,000 ... 97,000
Capital Stock, $1par........... .oeeeee. 5000 ... () 15,000  ......... 20,000
Additional Paid-In Capital... __......... 195,000 ... () 135,000 ... 330,000
285,000 285,000 @ .eeeen i e v,
Retained Earnings.....cccccceee. v e, (c) 8,500 (d) 70,0004y ..ccc... e
................ (h) 35,000 22,500
................ (i) 45,000
................ () 4,000
Wages Payable........ccccccceeee. s s €) 6,000 ... 6,000
Dividends Payable .............. ... ... ... (h) 35000 ... 35,000
Accumulated Depreciation—

Equipment.............cccoceeeis s e e, (i) 45,000 ... 45,000
Allowance for Bad Debts.... ... ... ... () 4,000 ... 4,000
1,917,500 1917500 537,000 537,000

Transactions:

(@) Torecord costs of production

(b) To record payment to suppliers

(c) Torecord payment of other expenses
(d) To record gross profit for the year

(e) Torecord collections on receivables

(f) Torecord acquisition and retirement
of equipment

(g) Torecord issuance of additional stock

(h) To record dividend declaration

(i) To record depreciation expense

(i) To record the allowance for bad debts
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3-46. (Concluded)

Looseleaf Corporation
Balance Sheet
December 31, 2013

Chapter 3

Assets
Current assets:

Cash ..o

Accounts receivable (net of
allowance for bad

debts of $4,000)....................
INVENTOTY .o,
Total current assets................

Equipment ..............ccc,

Less: Accumulated

depreciation...........cccceeeeeen.

Total asSetS ..cvvvveevvvieiieeireeeeen,

3-47.

$ 24,500

91,000
180,000
$295,500

$215,000

(45,000)
$170,000

Liabilities
Current liabilities:

Accounts payable.........ccc.........
Wages payable..................oo.
Dividends payable..................
Total current liabilities .............

Owners’ Equity
Contributed capital:
Capital stock, $1 par,
20,000 shares issued

and outstanding.....................
Additional paid-in capital ........
Retained earnings (deficit) .........
Total owners’ equity........ccc.eeeeeee

Total liabilities and owners’

=To [UT1 YRR

$ 97,000
6,000
35,000
$138.000

$ 20,000
330,000

(22,500)
$327.500

1. The correct answer is a. The purpose of information presented in notes to the fi-
nancial statements is to enhance the information included in the statements. This
may include providing further detail of amounts that are included in totals on the
statements. Information should not be improperly presented in the financial
statements, and management's responses to auditor comments would not be
presented in the statements or the notes to them.

2. The correct answer is a. Although all of the items listed may be disclosed, the
summary of significant accounting policies is used to disclose the selection of
accounting policies when the company is choosing among acceptable alterna-
tives. Since a company may select among a variety of acceptable depreciation
methods, the selection of straight-line would be an accounting policy.
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CASES

Discussion Case 3-48

1. The equity shown on the balance sheet (assets — liabilities) can be thought of as a rough measure of
the worth of the company. Accordingly, a company’s net worth can never exceed the amount of its
assets. However, many assets are reported at their historical cost, which in some cases differs
greatly from the market value of the assets. Land purchased 30 years ago for $10,000 will still be
shown on the balance sheet at $10,000 even though its market value may be many times as great.
In addition, assets not acquired in a transaction are not recorded on the balance sheet at all. For ex-
ample, a company’s reputation and customer network may have great value, but this goodwill is not

reported.
2.

ExxonMobil 0.76

Microsoft 0.32

Wal-Mart Stores 0.83

Berkshire Hathaway 1.56

Apple 0.28

Procter & Gamble 0.73

Johnson & Johnson 0.54

General Electric 4.61

Google 0.24

Bank of America 13.26
Clearly, the market value for most of these companies is more than their total of balance sheet as-
sets. The two exceptions are the companies with large financial operations; for such companies, al-
most all of the economic assets (investments, loans receivable, and so forth) are reported in the fi-
nancial statements at their current market value. The market values factors such as customers, his-
torical performance, future expectations, and contributions of management and employees. None of
these factors is presented as an account on a company’s balance sheet, yet the market factors them
into valuation.

3.

ExxonMobil 16.02

Microsoft 15.65

Wal-Mart Stores 14.32

Berkshire Hathaway 23.68

Apple 20.25

Procter & Gamble 14.14

Johnson & Johnson 14.25

General Electric 15.38

Google 25.98

Bank of America 26.69
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Discussion Case 3-48 (Concluded)

In general, the following types of firms have higher P/E ratios than average:

« Firms with strong future growth possibilities

« Firms with earnings for the year lower than average because of a nonrecurring event (e.g., a
large write-off, a natural disaster)

» Firms with substantial unrecorded assets (e.g., appreciated land, unrecorded goodwill)

In general, the following types of firms have lower P/E ratios than average:

« Firms with earnings for the year higher than average because of a nonrecurring event (e.g., a
one-time gain)
« Firms perceived as being very risky

Discussion Case 3-49

BanKAMEIICA ......ouuueeiieeiieeiee et
KEllY SEIVICES.....cutiiiiieei i
Yahoo! ...
MCDONAIA'S ...vvviiiiiiiiiiiiii s
Consolidated EdiSON ........cccoooeveiiiiiiiii

wmO >0

The power-generating facilities of utilities form a large portion of their assets and are shown on the bal-
ance sheet as plant and equipment. However, McDonald’s also has a great deal of plant and equipment.
In fact, the balance sheets of a utility company and of a fast-food company look similar. In this instance,
Consolidated Edison is B and McDonald’s is E.

Kelly Services is A. Because service companies have low levels of fixed assets and low levels of inven-
tory, company A matches this profile. Also because service companies typically don’t have many tangible
long-term assets to serve as collateral, they also don’t have high levels of long-term debt and equity per-
centage is high. Also note that the amount of receivable is greater than the amount of short-term pay-
ables. Kelly Services basically makes its money on the difference in that spread.

BankAmerica is recognizable by its high level of other current liabilities (D). Far and away the largest li-
ability of a bank is its deposit liability. A bank borrows money from its depositors (deposit liability) and
loans it to its borrowers (loans receivables).

The Internet company Yahoo! is company C. It has no long-term debt and few long-term assets. The bulk
of Yahoo's assets is invested in other current assets.

Discussion Case 3-50

The claim against ATC represents a contingent liability. Contingent liabilities are accounted for according
to management's estimate of the probability that the contingent obligation will become an actual obliga-
tion.

« Probable: The liability (and a corresponding loss or expense) should be recognized.
« Possible: The contingent loss is disclosed in a note to the financial statements.
« Remote: No accounting action is necessary.

Because ATC has offered to settle out of court, management may view the likelihood of losing the case
as probable. If so, a liability should be recognized. Because ATC has offered $500,000 to settle the case,
the recognized liability should be at least that much. Alternatively, the settlement offer may be just a legal
strategy, and ATC's management may not think that loss of the case is probable. If so, only note disclo-
sure is necessary.
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Discussion Case 3-51

1. Steps to avoid violating the current ratio constraint:
« Use FIFO instead of LIFO, causing current assets to increase by $50,000.
« Cancel plans to declare and pay cash dividends next year.

Current ratio without changes:
($1,200,000/$900,000) = 1.33

Current ratio with FIFO and cancellation of the planned dividend:
($1,290,000/$900,000) = 1.43

Other steps might include issuing new stock and converting some of the short-term debt into long-
term debt.

2. Steps to avoid violating the debt ratio constraint:
o Use FIFO instead of LIFO, causing current assets to increase by $50,000.
o Lease the building instead of buying it. This will decrease long-term liabilities and long-term as-
sets by $100,000.
« Cancel plans to declare and pay cash dividends next year.

Debt ratio without changes:
($1,700,000/$3,000,000) = 0.567

Debt ratio with FIFO, operating lease, and cancellation of the planned dividend:
($1,600,000/$2,990,000) = 0.535

Other steps might include issuing new stock.

The banks probably anticipated the cancellation of dividends, the issuance of new stock, and the
transformation of short-term debts into long-term debts.

One way to eliminate accounting changes as a way to bypass loan covenants is to write the cove-
nant in terms of a certain set of accounting principles. For example, for purposes of determining
whether the covenant is violated or not, the current ratio would be computed using the LIFO inven-
tory valuation method whether the borrowing company was still using LIFO or not.

A lender might also wish to stipulate that all long-term leases are to be treated as capital leases for
purposes of the ratio computation.

Discussion Case 3-52

As a banker, you are concerned that the change in valuation requirements will limit your ability to borrow
and lend monies, the primary function you are in business to accomplish. Regulations limit the amount
that can be lent based on a percentage of the asset carrying value. If the total asset value is reduced be-
cause of a decline in security values, the bank cannot lend as much money and thus cannot be as profit-
able as it would be using a higher value. Of course, the opposite condition occurs when the valuation of
the securities increases.

You are also concerned about the effect the rule can have on the income statement. Revaluing securities
under current U.S. GAAP also requires recognizing unrealized gains and losses—if the securities are
classified as trading securities. The recognition of these unrealized gains and losses can add volatility to
the pattern of yearly earnings. To most investors, increased volatility indicates increased risk. A banker
(or any other business leader) avoids the appearance of increased risk whenever possible.

The FASB and SEC are very concerned when economic conditions cause a loss in asset value and it is
not reported in a timely manner on the financial statements. Some current values are very objective and
can be readily measured. These include marketable equity securities and, to a lesser extent, marketable
debt securities. If these securities are valued at current amounts, statement users can make more in-
formed decisions.
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Discussion Case 3-53

Note to Technology Unlimited, Inc., financial statements:

Subsequent Events

On August 15, 2013, Technology Unlimited, Inc., split its common stock 2 for 1. After the split,
Technology has 200,000 shares of $0.50 par common stock outstanding.

Technology completed negotiations for the purchase of Liston Development Labs on July 18, 2013.
The purchase price was $775,000, $525,000 in cash and $250,000 in a 10%, 4-year note. The ac-
quisition was recorded in July 2013 and will be reflected in the financial statements for the year end-
ing June 30, 2014.

A $750,000 lawsuit was filed against Technology on August 15, 2013. Technology intends to defend
itself against the lawsuit; however, the probability of a favorable settlement is unknown as of Sep-
tember 8, 2013, the date of the auditors’ report.

Events not included in subsequent events note:

Diatride Company bankruptcy. The loss from this receivable should be estimated and recorded in the
2013 fiscal year. Even though its bankruptcy didn’'t occur until after year-end, the underlying conditions
that caused the bankruptcy were in place at the end of the fiscal year. A sufficient allowance for bad debts
must be established to cover the potential loss.

General decline in stock market technology stock values. Declines in market values are generally avail-
able information and therefore do not require disclosure in a subsequent events note. To include the in-
formation might attach more importance to it than is justified. Users of the financial statements should be
aware that financial statements do not contain all relevant economic information.

Discussion Case 3-54

1. Differences:

1)
(@)

3)

(4)
()
(6)
(7)
(8)

(9)
(10)

Both group and individual company balances are shown side by side. Seldom is this informa-
tion disclosed this way in the United States.

The balance sheet begins with fixed assets rather than current assets. Current assets are listed
in reverse order of liquidity, with cash being shown last. In the United States, current assets are
listed in accordance to their liquidity, with cash being itemized first.

Current assets less current liabilities is shown as a separate section. Some U.S. companies do
this, but they include this section as the first one on the balance sheet. Also included is a line
item where total assets are shown net of current liabilities. This is not done in the United
States.

Minority interests are shown as the last item on the balance sheet. They are shown before the
equity section in most U.S. balance sheets.

Common stock is referred to as “Called-up share capital” on the British statement.

Retained earnings is referred to as “Profit and loss account.”

A significant revaluation reserve is included in the British company’s Equity section. This arises
from use of current values for some assets. This type of reserve is not common in U.S.
statements.

The British company does not identify the amount of accumulated depreciation balances on the
face of the balance sheet.

Inventory is referred to as “Stock” in the British statement.

Accounts receivable is referred to as “Debtors” in the British statement.
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Discussion Case 3-54 (Concluded)

2.  Many of the differences arise from terminology differences. For instance, a few British terms would
be confusing if used in the United States (e.g., stock is seldom used to mean inventory because it
confuses reference to investments in common stock). Accountants should use terms that are under-
standable to the reader. Other differences are related to a different order of disclosure in the balance
sheets of the two countries. In the United States, some companies consider the fixed assets to be
more important than current assets, and they list them first. Ultilities follow this principle in the United
States while most other industries follow the more common liquidity approach.

Minority interest totals are often a significant item on the credit side of the balance sheet. By showing
it last, readers are more likely to see the item and consider it in evaluating the impact of items on the
majority shareholders. The U.S. disclosure in the midst of the liabilities and equities is often not seen
by the reader.

The inclusion of both company and group totals is useful for readers who are concerned both with a
consolidated group of companies and the individual company balances. U.S. companies often show
only consolidated statements and do not show how the individual companies are doing. The addi-
tional information provided by the British company might be of great use to investors and creditors.

Discussion Case 3-55

First, you should explain to the stockholders that comparing any company’s book-to-market ratio to the
average of the 10 most valuable companies in the United States is an unfair comparison. By definition,
these companies are extremely successful and will therefore have very low book values of equity com-
pared to their high market values. Also, you should explain that many of the economic assets of these
companies are intangibles such as brand names (Microsoft, IBM, Intel, and so forth). Your company is
successful in your market niche, but the sale of plumbing pipes does not create a huge amount of intan-
gibles. Finally, high market values are usually associated with companies with high growth prospects.
Your company has a solid market position, but the plumbing pipe business as a whole is unlikely to see
double-digit growth rates in the future.

Case 3-56

1. Disney reports a current ratio of 1.33 ($11,889/$8,934). This ratio has increased moderately from
2008 when it was 1.01 ($11,666/$11,591). The higher current ratio in 2009 resulted in part from an
increase in the amount of “cash and cash equivalents.”

2. Disney’s asset turnover in 2009 was 0.57 ($36,149/$63,117). This was slightly less than the asset
turnover in 2008 of 0.61 ($37,843/$62,497), indicating that the company was slightly less efficient in
2009.

3. In Note 2, Disney states that it uses the moving average cost basis for computing the cost of inven-
tories and that the inventories are stated at lower-of-cost-or-market.

4. Note 2 discloses that parks, resorts, and other property are carried at historical cost. Depreciation is
computed on the straight-line method based upon estimated useful lives ranging from 3 to 40 years.

5. In Note 15, Disney states that it is committed to the payment of $21.1 billion for broadcast rights,
primarily for sports programming. The company is also obligated to pay $28.1 billion in the future re-
lating to noncancelable operating leases. In addition, Disney reports that it is involved in several law-
suits but believes it is not possible to estimate the impact they will have on the operations of the
company, cash flows, or financial position.

6. In Note 1, Disney reveals that of total 2009 operating income of $6,672 million, 73.8%, or $4,923
million, was generated in the United States and Canada.
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Case 3-57

1.

The bulk of the $5 million decrease in assets came from decreases in cash and accounts receivable.
These two categories accounted for $4,918,994 of the $4,949,585 decrease in total assets. The
largest corresponding reductions were in the following liabilities: accounts payable and accrued ex-
penses, deferred game revenues, and deferred compensation—noncurrent portion.

The original value recorded for the NBA franchise can be computed by adding the reported book
value and the accumulated amortization:

Book value of NBA franchiSe........cccoeeeiiiiiiiieviiiiieeeeeeeeeeee, $3,393,263
Accumulated amortization ..........ooovveeveieeeiieiieeee e 2,776,318
Original recorded value of franchise...........cccccvevveeiiiiccinnee, $6,169,581

The annual amortization charge is computed by observing the change in accumulated amortization
from 2000 to 2001: $2,776,318 — $2,622,078 = $154,240 annual amortization

The amortization period can be computed by comparing the original recorded value of the franchise
and the annual amortization charge: $6,169,581/$154,240 = 40 years

The accumulated amortization of $2,776,318 on June 30, 2001, represents 18 years of amortization
($2,776,318/$154,240 = 18). Therefore, the NBA franchise asset was originally recognized on June
30, 1983.

Partners' capital can become negative in two ways: The partnership can experience losses large
enough to wipe out the partners' original investments, or the partnership can pay out cash distribu-
tions in excess of the partners' original investments. The Celtics have paid out excess distributions to
partners. One reason for this is that the NBA franchise asset analyzed in Question 2 is reported in
the balance sheet at far less than its current market value, which probably exceeds $200 million.

The Celtics report that the $6.4 million deferred compensation liability relates to amounts that have
been earned but not yet been paid in cash. Accordingly, this reported liability is for amounts to be
paid in the future for services already rendered. The $254.585 million amount is for services that
have not yet been provided. Thus, even though the payments have to be made whether the player
plays or not, the amount is not recognized as a liability because it does not stem from a “past trans-
action,” that is, from services already provided. In this case, you can see that the information from
the financial statement notes is extremely important in understanding the total economic obligations
currently borne by the Celtics.

Case 3-58

1.

Kroger Safeway Supervalue
Current Ratio 0.97 0.90 0.89
Debt Ratio 0.79 0.67 0.82

Asset Turnover 3.32 2.73 2.47
Return on Equity 1% —-22% 14%

Evaluation of how efficiently specific assets are used can be done by computing asset turnover ra-
tios for specific assets.

Kroger Safeway Supervalue
Inventory Turnover
(Cost of goods sold/Inventory) 12.03 11.15 13.43
Fixed Asset Turnover 551 3.97 578

(Sales/PPE)
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Case 3-58 (Concluded)

It appears that Supervalue is the most efficient at using inventory—each dollar of inventory meas-
ured at cost generates $13.43 of sales volume during a year. Supervalue also appears to be the
most efficient at using property, plant, and equipment—each dollar of PPE generates $5.78 of sales
during the year.

3. Ratio comparisons can be invalid when the companies being compared use different accounting
methods. For example, comparisons of inventory efficiency may be misleading if one company uses
LIFO and another uses FIFO. Comparative property, plant, and equipment efficiency is impacted by
what fraction of a company's fixed assets are leased under operating leases and therefore do not
appear on the balance sheet.
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Case 3-59

Diageo
Consolidated Balance Sheet
30 June 2009
(In millions of £)

Assets
Current assets:
(0= 1] 1 R £ 914
ACCOUNES TECEIVADIE ... ittt e e e e e e et e e e e e e e aaaaaaes 2,031
INVEINEOIY Lt e e e e e e e a e e e e e e e e aas 3,162
(@)1 [ o0 [ =T o1 = FST = £ PP PRPPPNN 98
o]t o0 =) o] A= FoTY= ] £ £ 6,205
INVESTMENES (£2,045 + £231) .oeiiiiiiiie ittt sttt e e st e e e st eesssbae e e s nnnaeeessnneeeeas 2,276
Property, plant, and eqUIPMENT ... it e e a e 2,268
BiIOIOGICAl BSSELS . ..ueiieiniei ettt e e e e e eaeaas 37
LONG-tEIM rECEIVADIES .. e ittt e e e e 18
Other fINANCIAI AS SO . u ittt ittt ittt e e et e eaeara e eenenrarenenrnenraranen 364
(DL (=T C=T0 = D= LT =] £ PPN 672
Post employment benefit aSSEtS .........c.uuuiiiiii i 41
T e= T o1 o] CoT= TSTT= SRR 6,215
TOLAL ASSEBES ... vviiieeie et ettt e ettt e ettt e et e e ettt e st e eeeb e e e st e e e sab e e s bt e e b teesbeeesateeaabeeesaae e e eraeeaareeares £18,096
Liabilities
Current liabilities:
Accounts payable and accrued liabilities ..........cccueeiiiiiiii e £ 2,173
] glo] 2 (=T 1 1 1 L= o | PSP UUPRPPPPINt 890
INCOME taX PAYADIE ... vt e 532
S o] (= g 1 0] (01 VZ =3 (o] 3 PP 172
Other current IabilitIeS ....euivie i e e e e e e e enens 220
Total CUIMTENE lADIIILIES. .. ..civei ettt ettt e et e e s b e e e sareeseree e £ 3,987
(o] g o I (=T g 1o 1= o) SRR 7,685
Other noncurrent liabilities (E99 + £30 + £1,424) ....uveeiieeee e sesieeee e e nvranee e 1,553
(0] o I (=T g 4 ] (01, 1] o] g 1 PSSR 314
Deferred tax HaDIlIIES ... ...uuuuririeiiiiiiiiiiiiri bbb e bab e b ab e b e babsbebsrsrsrarsssrsssrerssnreres 621
B Iz =T o 1T £14,160

Contributed capital:

CommON STOCK (E797 + £3,282) ...ttt a e e £ 4,079
Additional paid-in CAPItAl ........eeiiiiii i 1,342
Retained earnings (AEICIL) ....uiiiiii i e s e e e e e e e rr e e e e e e e e aans (2,200)
a0 1Y ] (=] (=T SRR 715
o] 7 LR ool (g o] o [T R =To (U1 2RSS £ 3,936

Total liabilities and StOCKNOIAErs’ @QUILY ............coiiiiiiiiiiiieeiiee e £18,096
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Case 3-60

1. a. Debtratio: ($33,498 — $9,698 — $213)/$33,498 = 70.4%
b. Currentratio: $3,319/$3,205 = 1.04
c. Long-term debt as a percentage of total capitalization: $9,232/$19,143 = 48.2%
d. Long-term debt as a percentage of “net plant”; $9,232/$20,874 = 44.2%

2. The least informative ratio for Consolidated Edison of the four computed is probably the current ratio.
The essence of the company is its long-term plant and equipment, financed by long-term debt; short-
term items are not crucial to the company’s operating strategy as they would be for, say, a retailer.
Because the company’s focus is on plant and equipment and on financing these assets with long-
term debt, the most important ratios are probably the long-term debt as a percentage of total capi-
talization and long-term debt as a percentage of “net plant.”

Case 3-61

TO: The militant economics student group

No, it isn’t the balance sheet that is stupid and outdated; it is your knowledge of the business information
environment. The financial statements do not pretend to report everything that is useful in making deci-
sions about a company. Yes, the value of the reputation of Coca-Cola is a useful thing to know. But so
are the health of Coca-Cola’s CEO and the announced marketing strategies of Coke’s competitors. The
financial statements include only a subset, albeit an important one, of the value-relevant information
available about a company.

In order to be recognized in the financial statements, information must be both relevant and reliable. The
art of accounting involves correctly trading off these two characteristics of information. Some market value
information is considered to be sufficiently reliable to include in the financial statements—the market
value of investment securities is a good example. Accountants have decided that other classes of market
value information do not meet the reliability test. For example, market information may suggest that the
value of Coca-Cola’s reputation is $60 billion. However, the value of Coke’s stock can change by 5% to
10% in one day—are these changes a result of changes in Coke's reputation, or do they stem from mac-
roeconomic factors?

Financial statement information is both relevant and reliable. As such, it comprises an important part of
the information investors and creditors need to make informed decisions about companies.

Case 3-62

Depending on the attitude of your senior colleagues on the accounting staff, it may be time for you to plan
your departure from the firm. If you find yourself working for unethical superiors, you inevitably will be
placed in situation after situation where you are faced with compromising your principles. If you think you
will have to leave the firm eventually, you are better off to make it an orderly departure.

If your senior colleagues are ethical people who are also troubled by the options facing the firm, then you
might suggest the following approach. Action 1 (lying about management’s intent concerning the property
in order to reclassify it as a current asset) is clearly unethical and unacceptable. All of the emphasis
should be placed on Action 2, which has a chance of being made to comply with the accounting rules.
The presentation to the board of directors might include the following points:

« Aloan covenant violation would be very costly (give details).

e One way to avoid violation is to accelerate the negotiations on the refinancing plan.

« If a formal refinancing deal can be signed by the date the financial statements are finalized, the short-
term loans can be properly classified as long-term, thus improving the current ratio and avoiding the
covenant violation.

« If refinancing negotiations are not accelerated, the only other option is very unattractive and involves
outright lying (briefly describe Action 1).
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Case 3-62 (Concluded)

A presentation focusing on these points is ethical, gives the board of directors a concrete action to con-
sider (i.e., getting to work on the refinancing negotiations), and points out the unsuitability of the only al-
ternative action.

Case 3-63

Solutions to this problem can be found on the Instructor's Resource CD-ROM or downloaded from the
Web at www.cengage.com/accounting/stice.



